

ON THE HIGHLY ACCURATE SUMMATION OF CERTAIN SERIES OCCURRING IN PLATE CONTACT PROBLEMS

D.A. MACDONALD

ABSTRACT. The infinite series $R_p = \sum_{k=1}^{\infty} (2k-1)^{-p} x^{2k-1}$, $0 < 1-x \ll 1$, $p = 2$ or 3 , and the related series

$$C(x, b, 2) = \sum_{k=1}^{\infty} (2k-1)^{-2} \cosh(2k-1)x / \cosh(2k-1)b, \quad 0 < 1-x/b \ll 1,$$

$$S(x, b, 3) = \sum_{k=1}^{\infty} (2k-1)^{-3} \sinh(2k-1)x / \cosh(2k-1)b,$$

are of interest in problems concerning contact between plates and unilateral supports. This article will re-examine a previously published result of Baratella and Gabutti for R_p , and will present new, rapidly convergent, series for $C(x, b, 2)$ and $S(x, b, 3)$.

1. INTRODUCTION

When $0 < x \leq 1/2$ the infinite series

$$(1) \quad R_p = \sum_{k=1}^{\infty} (2k-1)^{-p} x^{2k-1}, \quad p = 2 \text{ or } 3,$$

are easy to sum to high accuracy using direct summation and a suitable computer algebra package. For example, when either series is approximated by the sum of its first r terms the error, E_r , satisfies

$$E_r(x) = \sum_{k=r+1}^{\infty} \frac{x^{2k-1}}{(2k-1)^p} \leq \left(\frac{1}{2}\right)^{2r+1} \sum_{k=0}^{\infty} \frac{x^{2k}}{(2r+1+2k)^p} < \left(\frac{1}{2}\right)^{2r-1} \frac{1}{3(2r+1)^p}.$$

When, however, $0 < 1-x \ll 1$ the series R_p are not easy to sum. The series

$$C(x, b, 2) = \sum_{k=1}^{\infty} (2k-1)^{-2} \cosh(2k-1)x / \cosh(2k-1)b, \quad 0 < x/b < 1,$$

$$S(x, b, 3) = \sum_{k=1}^{\infty} (2k-1)^{-3} \sinh(2k-1)x / \cosh(2k-1)b$$

Received by the editor July 10, 1996.

1991 *Mathematics Subject Classification*. Primary 65B10; Secondary 35Q80, 35J25.

Key words and phrases. Slowly convergent series, boundary value problems.

are, likewise, easy to sum when $b(1-x/b)$ is not small. Suppose, for example, that the series $C(x, b, 2)$ is truncated after r terms. The error is then

$$\begin{aligned} \hat{E}_c(r) &= \sum_{k=r+1}^{\infty} \frac{1}{(2k-1)^2} \cosh((2k-1)x) / \cosh((2k-1)b) \\ &< \sum_{k=r+1}^{\infty} \frac{1}{(2k-1)^2} \left[e^{-(2k-1)b(1-x/b)} + e^{-(2k-1)b(1+x/b)} \right] \\ &< \sum_{k=r+1}^{\infty} \frac{(e^{-b(1-x/b)})^{2k-1}}{(2k-1)^2} + \sum_{k=r+1}^{\infty} \frac{(e^{-b})^{2k-1}}{(2k-1)^2} \\ &< \frac{1}{(2r+1)^2} \left[\frac{e^{-(2r+1)b(1-x/b)} + e^{-(2r+1)b}}{1 - e^{-2b(1-x/b)}} \right]. \end{aligned}$$

Hence, when $b(1-x/b)$ is not small this series, too, is easy to sum to high accuracy by use of direct summation.

The series $R_p(x)$, $p = 2, 3$, $0 < 1-x << 1$, and $C(x, b, 2)$, $S(x, b, 3)$, $0 < 1-x/b << 1$, are of interest in problems concerning contact between plates and unilateral supports, [4], and the problem of their summation to high accuracy has attracted the attention of several numerical analysts [2], [3], [5], [7]. This article will address the same problem.

1.1. Previous work. The series were first discussed in [5], where the method of summation is based on Plana's summation formula (see, for example [8], pp. 145-46). The accuracy of this initial attempt at the problem is inferior to later attempts.

In [7], the method is to substitute the result

$$(2) \quad \frac{1}{(k-1/2)^p} = \int_0^{\infty} e^{-kt} e^{t/2} \frac{t^{p-1}}{(p-1)!} dt, \quad (k \geq 1)$$

in R_p , interchange the order of summation and integration, and sum the new (geometric) series in k ; hence the series R_p is transformed to the integral ¹

$$(3) \quad R_p(x) = \frac{x}{2^{p-1}(p-1)!} \int_0^1 \frac{[-\ln u^2]^{p-1}}{[1-(xu)^2]} du$$

which is evaluated numerically by use of Gaussian quadrature.

In [2] the identity $-\ln u^2 \equiv \ln x^2 - \ln(xu)^2$ and the binomial theorem are used to transform (3) to

$$R_p(x) = \frac{x}{2^{p-1}(p-1)!} \sum_{m=0}^{p-1} \binom{p-1}{m} (\ln x^2)^{p-1-m} T_m(x)$$

where

$$T_m(x) = \int_0^1 \frac{[-\ln(xu)^2]^m}{[1-(xu)^2]} du.$$

¹In [2], [3] and [7] the series are taken to be $R_p(z)$, where z is a complex variable; in this article we take $R_p = R_p(x)$ where x is a real variable.

By use of the expansion

$$(-\ln u)^m = \sum_{k=0}^{\infty} (-1)^k S_{k+m}^{(m)} \frac{m!}{(m+k)!} (1-u)^{k+m}, \quad 0 < u \leq 1,$$

where $S_{k+m}^{(m)}$ are the Stirling numbers of the first kind, approximations, with accompanying error bounds, are obtained for the integrals $T_m(x)$. These are valid for $0 \leq x \leq 1$.

In [3] the series $R_p, p = 2, 3$, are treated as special cases of Legendre's Chi function and are essentially expressed as rapidly convergent alternating power series in $\xi = -\ln(x)/\pi$; when these power series are truncated after r terms, where r is even, the error is close to the first term not taken, which is close to

$$\frac{-\pi \xi^{2r+3}}{(2r+2)(2r+3)},$$

in the case when $p = 2$. As we shall show, these remarkable series provide the most efficient means of summing the series R_p when $1/2 \leq x < 1$.

In the case of the series $C(x, b, 2)$ and $S(x, b, 3)$, the method given in [7] leads to infinite series (of integrals) which converge rapidly except when $0 < b \ll 1$ —a deficiency which is resolved in [2] by use of a transformed series which converges like a geometric series with ratio $1/3$ for all $b \geq 0$.

In this article accurate bounds will be derived for the errors which occur when the series $R_p, p = 2, 3$, as transformed in [3] are truncated after r terms and new series will be presented for $C(x, b, 2)$ and $S(x, b, 3)$; further, the errors which result when the latter series are truncated after r terms will be examined and it will be shown that the error is close to

$$2b \frac{([1-x/b]/2)^{2r+3}}{(2r+2)(2r+3)}$$

in the case of $C(x, b, 2)$ and that it is smaller than this in the case of $S(x, b, 3)$.

2. THE SERIES $R_p(x), p = 2, 3$, AS TRANSFORMED BY BOERSMA AND DEMPSEY

As the series $R_p(x)$ are easily summed when $0 < x < 1/2$, intuition suggests that when they are transformed to series in the new variable $(1-x)$ the transformed series will be easy to sum when $1/2 \leq x < 1$. This is indeed the case, but the resulting series can be shown to converge more slowly in the region of interest than do the series presented in [3].² These are

²It can, for example, be shown that

$$R_2(x) = \frac{\pi^2}{8} + \frac{1}{2} \left(\ln x \ln \left[\frac{1+x}{1-x} \right] - \sum_{k=1}^{\infty} \frac{(1-x)^{k+1}}{k+1} b_{k-1} - \sum_{k=1}^{\infty} \frac{(1-x)^k}{k^2} \right),$$

where $0 < x < 1$ and

$$b_{k-1} = \sum_{i=0}^{k-1} \frac{1}{(k-i) 2^{i+1}}, \quad k = 1, 2, \dots$$

This result which, when each infinite series is truncated after r terms has an error, E_{R2} , satisfying

$$0 > E_{R2} > -\frac{(1-x)^{r+1}}{4x} \left[\frac{1-x}{(r+2)} + \frac{2}{(r+1)^2} \right],$$

should be compared to Procedure 3 of [2].

$$\begin{aligned}
 R_2(x) &= \frac{\pi^2}{8} - \frac{\pi \xi}{2} [1 + \ln(2) - \ln(\pi \xi)] \\
 (4) \quad &- \pi \sum_{k=1}^{\infty} \frac{(-1)^{k-1} (1 - 2^{-2k+1})}{(2k)(2k+1)} \zeta(2k) \xi^{2k+1}, \quad 0 \leq \xi \leq 1,
 \end{aligned}$$

and

$$\begin{aligned}
 R_3(x) &= \frac{7}{8} \zeta(3) - \frac{\pi^3}{8} \xi + \frac{\pi^2}{4} \xi^2 [3/2 + \ln(2) - \ln(\pi \xi)] \\
 (5) \quad &+ \pi^2 \sum_{k=1}^{\infty} \frac{(-1)^{k-1} (1 - 2^{-2k+1})}{(2k)(2k+1)(2k+2)} \zeta(2k) \xi^{2k+2}, \quad 0 \leq \xi \leq 1,
 \end{aligned}$$

where $\xi = -\ln(x)/\pi$.

2.1. Computation of $R_2(x)$ and $R_3(x)$. When the infinite series in (4) is truncated after r terms the error, E_{R2} , is given by

$$(6) \quad E_{R2} = \pi \sum_{k=r+1}^{\infty} \frac{(-1)^k (1 - 2^{-2k+1})}{(2k)(2k+1)} \zeta(2k) \xi^{2k+1}, \quad 0 \leq \xi \leq 1,$$

where ([1], 23.1.15)

$$(7) \quad 1 < \zeta(2k+2) = \frac{(-1)^k (2\pi)^{2k+2} B_{2k+2}}{2(2k+2)!} < \frac{1}{(1 - 2^{-2k-1})}.$$

The terms in (4) alternate in sign and steadily decrease to zero as $k \rightarrow \infty$. Bounds for the error when the series is approximated by its first r terms are easily obtained from Leibnitz's theorem for alternating series which, when r is even, gives the result

$$(8) \quad \frac{-\pi \xi^{2r+3}}{(2r+2)(2r+3)} < E_{R2} < 0.$$

The upper bound in this result may, as will now be demonstrated, be improved on.

When r is **even** and the terms of the series (6) are grouped in pairs, starting with the first two terms, the sum of each pair is less than zero and the p th pair, T_p say, $p = 1, 2, \dots$, satisfies the inequality

$$T_p < -\pi \xi^{2r+3+4p} \left[\frac{(1 - 2^{-(2r-1-4p)})}{(2r+2+4p)(2r+3+4p)} - \frac{\xi^2}{(2r+4+4p)(2r+5+4p)} \right].$$

Summing all such pairs, and noting that $T_p < 0$, we see that

$$\begin{aligned}
 E_{R2} &< -\pi \xi^{2r+3} \sum_{k=1}^{\infty} \frac{(1 - 2^{-2r-1-4k} - \xi^2) \xi^{4(k-1)}}{(2r-2+4k)(2r-1+4k)} \\
 &= -\pi \xi^{2r+3} \sum_{k=0}^{\infty} \frac{(1 - 2^{-2r-5-4k} - \xi^2) \xi^{4k}}{(2r+2+4k)(2r+3+4k)}.
 \end{aligned}$$

Further, use of results like

$$Q = \sum_{k=0}^{\infty} \frac{\xi^{2r+3+4k}}{(2r+2+4k)} = \xi \sum_{k=0}^{\infty} \int_0^{\xi} \xi^{2r+1+4k} d\xi = \xi \int_0^{\xi} \frac{\xi^{2r+1}}{(1 - \xi^4)} d\xi$$

lead to

$$E_{R2} < -\pi (1 - \xi^2) \int_0^{\xi} \frac{u^{2r+1}}{(1 - u^4)} (\xi - u) du + 4\pi \int_0^{\frac{\xi}{2}} \frac{u^{2r+1}}{(1 - u^4)} (\xi/2 - u) du,$$

from which result and (8) we obtain the inequality

(9)
$$\frac{-\pi \xi^{2r+3}}{(2r+2)(2r+3)} < E_{R2} < \frac{-\pi \xi^{2r+3}}{(2r+2)(2r+3)} \left[1 - \xi^2 - \frac{1}{(1 - (\xi/2)^4) 2^{2r+1}} \right].$$

which is valid for all **even** $r > 1$.

When $r = 6$ and $x = 0.9$ we find that

$$-1.142486 \times 10^{-24} < E_{R2} < -1.141061 \times 10^{-24}$$

whereas calculation gives $E_{R2} = -1.141425 \times 10^{-24}$.

In the case of $R_3(x)$, we can similarly show that when the infinite series in (5) is truncated after r terms the error, E_{R3} , satisfies, for **even** r , the inequality

$$\frac{\pi^2 \xi^{2r+4}}{(2r+2)(2r+3)(2r+4)} \left[1 - \xi^2 - \frac{1}{(1 - (\xi/2)^4) 2^{2r+1}} \right] < E_{R3} < \frac{\pi^2 \xi^{2r+4}}{(2r+2)(2r+3)(2r+4)}.$$

When $r = 6$ and $x = 0.9$:

$$7.513925 \times 10^{-27} < E_{R3} < 7.523306 \times 10^{-27}$$

whereas calculation gives $E_{R3} = 7.517046 \times 10^{-27}$.

3. THE SERIES $C(x, b, 2)$ AND $S(x, b, 3)$

These are the series specifically referred to in [5] (equations (13a) and (13b), respectively).

3.1. $C(x, b, 2)$, $0 < b - x \ll b$. Consider the following boundary value problem: solve for T

$$\begin{aligned} T_{xx} + T_{yy} &= 0, & 0 \leq x \leq \pi, & \quad 0 \leq y \leq b; \\ T(x, 0) &= x; & T_y(x, b) &= 0; \\ T_x(0, y) &= 0; & T_x(\pi, y) &= 0. \end{aligned}$$

By expanding in terms of the eigenfunctions $\cos nx$, it is easy to show that

$$T(x, y) = \frac{\pi}{2} - \frac{4}{\pi} \sum_{n=1}^{\infty} \frac{\cosh[(2n-1)(b-y)] \cos(2n-1)x}{\cosh[(2n-1)b] (2n-1)^2}.$$

Hence

(10)
$$\begin{aligned} T(\pi, y) &= \frac{\pi}{2} + \frac{4}{\pi} \sum_{n=1}^{\infty} \frac{1}{(2n-1)^2} \frac{\cosh[(2n-1)(b-y)]}{\cosh[(2n-1)b]} \\ &= \frac{\pi}{2} + \frac{4}{\pi} C(b-y, b, 2). \end{aligned}$$

Now put $\hat{T} = T - x$ and solve

$$\begin{aligned} \hat{T}_{xx} + \hat{T}_{yy} &= 0, & 0 \leq x \leq \pi, & \quad 0 \leq y \leq b; \\ \hat{T}(x, 0) &= 0; & \hat{T}_y(x, b) &= 0; \\ \hat{T}_x(0, y) &= -1; & \hat{T}_x(\pi, y) &= -1. \end{aligned}$$

The eigenfunctions are now $\sin[(2n-1)\pi y/2b]$ and

$$\hat{T}(x, y) = \frac{8b}{\pi^2} \sum_{n=1}^{\infty} \frac{\sin[(2n-1)\pi y/2b]}{(2n-1)^2} \cdot \left(\tanh[(2n-1)\pi^2/(4b)] \cosh[(2n-1)\frac{\pi x}{2b}] - \sinh[(2n-1)\frac{\pi x}{2b}] \right).$$

Hence

(11)

$$\begin{aligned} \hat{T}(\pi, y) &= -\frac{8b}{\pi^2} \sum_{n=1}^{\infty} \frac{1}{(2n-1)^2} \sin[(2n-1)\pi y/(2b)] \tanh[(2n-1)\pi^2/(4b)] \\ &= -\frac{8b}{\pi^2} \left[\sum_{n=1}^{\infty} \frac{\sin[(2n-1)\pi y/2b]}{(2n-1)^2} \right. \\ &\quad \left. - \sum_{n=1}^{\infty} (1 - \tanh[(2n-1)\pi^2/(4b)]) \frac{\sin[(2n-1)\pi y/2b]}{(2n-1)^2} \right]. \end{aligned}$$

If we now substitute for $\sum_{n=1}^{\infty} \sin[(2n-1)\pi y/(2b)]/(2n-1)^2$ from equation (3.4) of [3] we obtain, on eliminating T from equations (10) and (11), the result

$$\begin{aligned} C(x, b, 2) &= \frac{\pi^2}{8} - \left[1 - \ln\left(\frac{\mu_1}{2}\right) \right] \frac{b}{\pi} \mu_1 \\ &\quad - \frac{2b}{\pi} \mu_1 \sum_{k=1}^{\infty} (-1)^k \frac{[2^{2k-1} - 1] B_{2k}}{2k(2k+1)!} \mu_1^{2k} \\ &\quad + \frac{2b}{\pi} \sum_{k=1}^{\infty} (1 - \tanh[(2k-1)\pi^2/(4b)]) \frac{\sin[(2k-1)\mu_1]}{(2k-1)^2}, \end{aligned} \tag{12}$$

where $\mu_1 = (1-x/b)\pi/2$ and B_{2k} denotes the Bernoulli polynomial of order $(2k)$, as defined in [1]. The series for $S(x, b, 3)$ can be similarly transformed by integrating (12) with respect to x , from x to b .

4. COMPUTATION OF $C(x, b, 2)$ AND $S(x, b, 3)$

When each of the infinite series in (12) and in the corresponding result for $S(x, b, 3)$ are approximated by the sum of their first r terms errors, $E_c(r)$ and $E_s(r)$, respectively, are introduced. In this section we shall present bounds for these.

4.1. Computation of $C(x, b, 2)$. From equation (12),

$$E_c(r) = b(1-x/b)G + \frac{2b}{\pi}H, \tag{13}$$

where

$$\begin{aligned} G &= \sum_{k=r+1}^{\infty} (-1)^{k+1} \frac{[2^{2k-1} - 1] B_{2k}}{2k(2k+1)!} \left[\frac{\pi}{2} \left(1 - \frac{x}{b} \right) \right]^{2k}, \\ H &= \sum_{k=r+1}^{\infty} \left(1 - \tanh[(2k-1)\frac{\pi^2}{4b}] \right) \frac{\sin[(2k-1)(1-x/b)\pi/2]}{(2k-1)^2}. \end{aligned}$$

Hence, by use of (7),

$$\sum_{k=r+1}^{\infty} \frac{[(1-x/b)/2]^{2k}}{2k(2k+1)} - \sum_{k=r+1}^{\infty} \frac{[(1-x/b)/4]^{2k}}{k(2k+1)} < G < \sum_{k=r+1}^{\infty} \frac{[(1-x/b)/2]^{2k}}{2k(2k+1)},$$

which leads to

$$(14) \quad \frac{[(1-x/b)/2]^{2r+2}}{(2r+2)(2r+3)} \left[1 - \frac{(1/2)^{2r+1}}{(1-(1-x/b)^2/16)} \right] < G < \frac{((1-x/b)/2)^{2r+2}}{(2r+2)(2r+3)(1-(1-x/b)^2/4)}.$$

In the case of H we have

$$(15) \quad |H| < \sum_{k=r+1}^{\infty} \frac{(1 - \tanh[(2k-1)\pi^2/(4b)])}{(2k-1)^2} < (\frac{\pi^2}{8} - 1) \left(1 - \tanh[(2r+1)\frac{\pi^2}{4b}] \right).$$

Hence, when each of the infinite series in (12) are truncated after r terms the error, $E_c(r)$, satisfies

$$U < E_c(r) < V,$$

where

$$U = \frac{2b[(1-x/b)/2]^{2r+3}}{(2r+2)(2r+3)} \left[1 - \frac{(1/2)^{2r+1}}{(1-(1-x/b)^2/16)} \right] - \alpha \left(1 - \tanh[(2r+1)\frac{\pi^2}{4b}] \right)$$

$$V = \frac{2b[(1-x/b)/2]^{2r+3}}{(2r+2)(2r+3)} \left[\frac{1}{1-(1-x/b)^2/4} \right] + \alpha \left(1 - \tanh[(2r+1)\frac{\pi^2}{4b}] \right)$$

and $\alpha = (\pi^2/8 - 1)(2b)/\pi$. When $r = 5$, $b = 0.1$ and $x = 0.09$ we find that

$$1.564239 \times 10^{-20} < E_c(5) < 1.568926 \times 10^{-20},$$

whereas calculation of $E_c(5)$ gives $E_c(5) = 1.567536663 \times 10^{-20}$.

4.2. Computation of $S(x, b, 3)$. From equation (12) it can be shown that

$$(16) \quad S(x, b, 3) = \frac{\pi^2 x}{8} - \frac{bx}{4} [2-x/b] \left(\frac{3}{2} - \ln \frac{\pi}{4} \right) - \frac{b^2}{4} \left(1 - \frac{x}{b} \right)^2 \ln \left(1 - \frac{x}{b} \right)$$

$$+ \frac{4b^2}{\pi^2} \sum_{k=1}^r (-1)^k \frac{[2^{2k-1} - 1] B_{2k}}{2k(2k+2)!} \left[\frac{\pi}{2} \left(1 - \frac{x}{b} \right) \right]^{2k+2}$$

$$+ \frac{4b^2}{\pi^2} \sum_{k=1}^r \left(1 - \tanh[(2k-1)\frac{\pi^2}{4b}] \right) \frac{\cos \mu_k}{(2k-1)^3} + b^2 A + E_s(r),$$

where, for $k = 1, 2, \dots$, $\mu_k = (2k-1)(1-x/b)\pi/2$ and

$$(17) \quad A = \sum_{k=1}^{\infty} (-1)^{k+1} \left(\frac{\pi}{2} \right)^{2k} \frac{[2^{2k-1} - 1] B_{2k}}{2k(2k+2)!}.$$

³ The error term, $E_s(r)$, satisfies

$$E_s(r) = -b^2(1-x/b)^2 \bar{G} + 4b^2 \bar{H}/\pi^2,$$

where

$$\begin{aligned} \bar{G} &= \sum_{k=r+1}^{\infty} (-1)^{k+1} \frac{[2^{2k-1} - 1] B_{2k}}{2k(2k+2)!} \left[\frac{\pi}{2} \left(1 - \frac{x}{b}\right) \right]^{2k}, \\ \bar{H} &= \sum_{k=r+1}^{\infty} \left(1 - \tanh\left[(2k-1)\frac{\pi^2}{4b}\right]\right) \frac{\cos[(2k-1)(1-x/b)\pi/2]}{(2k-1)^3}. \end{aligned}$$

It can be shown that

$$(18) \quad \bar{U} < E_s(r) < \bar{V},$$

where

$$\begin{aligned} \bar{U} &= -\frac{4b^2([1-x/b]/2)^{2r+4}}{(2r+2)(2r+3)(2r+4)} \left[\frac{1}{1-(1-x/b)^2/4} \right] - \frac{b^2}{\pi^2} \left[1 - \tanh\left[(2r+1)\frac{\pi^2}{4b}\right] \right], \\ \bar{V} &= -\frac{4b^2([1-x/b]/2)^{2r+4}}{(2r+2)(2r+3)(2r+4)} \left[1 - \frac{(1/2)^{2r+1}}{(1-(1-x/b)^2/16)} \right] \\ &\quad + \frac{b^2}{\pi^2} \left[1 - \tanh\left[(2r+1)\frac{\pi^2}{4b}\right] \right]. \end{aligned}$$

When $r = 5$, $b = 0.1$, $x = 0.09$, we find that

$$-1.120662 \times 10^{-23} < E_s(5) < -1.117314 \times 10^{-23},$$

whereas calculation gives $E_s(5) = -1.119409 \times 10^{-23}$.

5. CONCLUSION

In this article we have shown that when either of the series (4), (5) are truncated after r terms, the magnitude of the resulting error in the sum of the series will be close to (and will not exceed)

$$\frac{\pi}{(2r+2)(2r+3)} \left(\frac{-\ln(x)}{\pi} \right)^{2r+3} \approx \frac{\pi \epsilon_1^{2r+3}}{(2r+2)(2r+3)},$$

where $0 < \epsilon_1 = (1-x)/\pi \ll 1$.

Further, when the series in (12) are truncated after r terms the error in the sum of the series will be close to

$$\frac{2b \epsilon_2^{2r+3}}{(2r+2)(2r+3)}$$

when $0 < \epsilon_2 = (1-x/b)/2 \ll 1$, and $b = O(1)$, at most; and the error in $S(x, b, 3)$ will be smaller than this.

Besides being of interest to the numerical analyst ([2], [3], [5], [7]) and to the specialist in unilateral plate contact problems, [4], the series $C(x, b, 2)$ and $S(x, b, 3)$ occur elsewhere in applied mathematics—for example, in connection with the torsion of a prismatic bar of rectangular cross-section where, with $b^* = (\pi c)/(2b)$,

³We note that the series for the number A converges like $\sum_k 2^{-2k}/k^3$,

$C(y(2b^*)/c, b^*, 2)$ occurs in the expression for the shear stress on the boundaries $x = \pm b/2$, of the bar, $-b/2 \leq x \leq b/2$, $-c/2 \leq y \leq c/2$ (see, for example, [6], pp. 244-45).

In any such application the use of the alternative series discussed in this article should prove worthwhile.

REFERENCES

- [1] M. Abramowitz and I.A. Stegun, *Handbook of mathematical functions*, Dover Publications Inc., New York, (1966). MR **34**:8606
- [2] P. Baratella and B. Gabutti, *Uniform approximation on unit disk of series arising in plate contact problems*, JI of Comp. & Appl. Math. **62** (1995) 181-196. MR **96h**:65003
- [3] J. Boersma and J.P. Dempsey, *Numerical evaluation of Legendre's Chi-function*, Math. Comp. **59** (1992) 157-163. MR **92k**:65008
- [4] J.P. Dempsey, L.M. Keer, N.B. Patel and M.L. Glasser, *Contact between plates and unilateral supports*, ASME J Appl. Mech **51** (1984) 324-328.
- [5] K.M. Dempsey, D Liu, and J.P. Dempsey, *Plana's summation formula for $\sum_{m=1,3,\dots}^{\infty} m^{-2} \sin(m\alpha), m^{-3} \cos(m\alpha), m^{-2} A^m, m^{-3} A^m$* , Math. Comp. **55** (1990) 693-704. MR **91b**:65003
- [6] M. Filonenko-Borodich, *Theory of Elasticity*, Mir Publishers, Moscow (1968).
- [7] W. Gautschi, *On certain slowly convergent series occurring in plate contact problems*, Math. Comp. **57**, (1991) 325-338. MR **91j**:40002
- [8] E.T. Whittaker and G.N. Watson, *A course of modern analysis*, C.U.P., Cambridge (1927).

DEPARTMENT OF MATHEMATICAL SCIENCES, P.O. BOX 147, THE UNIVERSITY, LIVERPOOL L69 3BX, UNITED KINGDOM

E-mail address: `sx10@liv.uk`